M1JS/M1J

%zﬂﬁggﬂél ﬁEmu\TR I\

LRRKNEFHE

1 EREAEE
%1%*&%




SER WERTA~ @#E M1MS/M1J/M1JS

[1] 0°< 0 <45 onn. o, sin0+cos9:% ...... ®

(1) @omfz25ELT

sin29+c0829+281n90059:1—96

1+281n9c089=%

sinfcosf = —— (&)
18

(2) sin® 6 4 cos® 6 = (sin 6 + cos ) (sin?  — sin 6 cos O + cos® 0)
_4 (-
-4(-%)
-2 %
o7 (&)
[2] (1) 2cos® 0 + 3sinf = 3 2(1 —sin? @) + 3sinf = 3

2sin?f — 3sinf+1=0
(sinf —1)(2sinf — 1) =0

F1ee

o L
sinf = 5 1

0°<H<180° THAHND
6 = 30°, 90°, 150° (&)

(2) 2sin®0 — 2tan6 = 3 2(1 — cos? ) — 2tanf = 3

2c0s?0+ 2tanf +1 <0

2
2 L 9tanf+1<0
1t tan?g otanetl=

2+ (1 +tan®0)(2tand +1) £ 0
2tan® 0 4 tan? 0 + 2tand + 3 < 0
(tan® +1)(2tan’ 6 —tanf +3) <0 ---@

[ A A

ZZT
29 _ _ _1V 23
2 tan” 0 tan9+3—2(tan9 4) + 3 >0
*EELT

® <= tanf0+1<0 <= tanf< -1
0°<H9<180° THLHMD
90° < 6 < 135° (&)



[3] AABCIZ2WT, ZA, /B, ZCORBOEE R FNZFN
a,b,c (a>0,b>0 ¢>0) &L, £/NENOFEE
R(>0) B ok ZEEEM #fRERLHWT

sin Acos A = sin B cos B
a b+ —ad®> b .c2+a2—b2

2 o CL2) _ b2(c2 +CL2 o b2)

o
(=l

P a1 —0
) —(a*+ b))} =0
b)(a —b){c* = (@®> + b))} =0
=b T2 2+vE=7

£oT, AABC X
{ CB =CA TH3_FiD=AT

R ) 2be " 2R 2ca
(v
2
2

IIIIMIIH

2
(a
(a
(a+

* /=13
/C=90° CHIZEA=AT
(&)

S
) Q
o8]

[4] Cy DL (0, 0) & Cy DL (3, 4) & OREHEE
N o
SHE Oy ONRE LS & Cy D L OBREE LD, i{:

X

(1) Co DL (3, 4) 1, O DWNEIZH H005

(i) CoMCL ONFIZH B & &
5+r<15

-

/

r <10
LoT
0<r<10

A

0<r<10,20<r

() Cy 7% Cy DI D2 & % ‘
5+16<r Cy
L oT Ci
20<r
L7225 T, 5 )
15 O
T

(2) Co DEME 75, Co B CL T B L X EDVKE L, hD, Co 25 Ch \ S

HEELDPAEVHHDOLETHLDH



5+r>15
15+5>r
10<r<20 (&)

4

A
Ch
¢/ |, 1 '
5 15 5 15 51/
N9

[5]) 526N HEXOfZ, y=ar b y=b,DTHD z JEIEL L TEZ 5.
y =ax X
(a>00EE HZa (>0) OFEA D EM
({ia=00kE y=0 (z#)
(i) a<0DE&E HEZ a (<0) DN ZESHEM
ENENT T 72 EROEBD.,

(i) y (i) y (iif)

v
(en)
=
Q|
—
[IN
=)
=

b=0DL X, y=0%,7%)—3
bx0DLE, y=bllIXbbLWn

b axomew)
a‘ .
FEDH (a=0»Db=0) (&)
L (a=0»2b>0)



